$$Ker(A) = \begin{cases} A \parallel He solutions to  $A \vec{x} = \vec{0} \end{cases}$$$

Basis: A basis fir a subspace V is a collection of linerly  
integradent vectors 
$$\vec{b}_1, ..., \vec{b}_n$$
 ret.  
 $V = spon \{\vec{b}_1, ..., \vec{b}_n\}$   
 $\int (c_1\vec{b}_1 + c_2\vec{b}_2 + ... + c_n\vec{b}_n = \vec{O} \quad (=) \quad c_1 = c_2 = ... = c_n = \vec{O}$   
The size of a basis for a subspace is the direction of thet

subspace.

$$\frac{1}{1} = \begin{bmatrix} 1 & 2 & -1 & 3 \\ 2 & 4 & -2 & 6 \end{bmatrix}$$
Find a basis for im A

(3) Every col. 11 a leading l' correspondents to a basis vector for in (A) in the original matrix

$$in(A) = spon \left\{ \begin{bmatrix} 1\\ 2 \end{bmatrix} \right\}$$
  
3) To find bur(A), augment run reduced metrix u/ the O vector
$$\begin{pmatrix} 4 & 1 & \text{bertify} & \text{my} & \text{fee variables} \end{pmatrix}$$

$$\begin{bmatrix} x_1 & x_2 & x_3 & x_1 \\ 1 & 2 & -1 & 3 \\ 0 & 0 & 0 & 0 \end{bmatrix} \xrightarrow{x_2, x_3, x_4} & \text{free variables}$$
  
(4) Use matrix to write non-free vars in terms of the free variables
$$x_1 + 2x_2 - x_3 + 3x_4 = 0 \implies x_1 = -2x_2 + x_3 - 3x_4$$

(3) Plug-in My eqns. fr My Ave-free valuebly into the vector from  
of My colution  

$$\begin{bmatrix} x_1 \\ x_2 \\ x_3 \\ x_4 \end{bmatrix} = \begin{bmatrix} -2x_2 + x_3 - 3x_4 \\ x_2 \\ x_3 \\ x_4 \end{bmatrix}$$
(6) Break apert my coll vector by component  

$$\begin{bmatrix} -2x_2 + x_3 - 3x_4 \\ x_2 \\ x_3 \\ x_4 \end{bmatrix} = \begin{bmatrix} -2x_2 \\ x_2 \\ 0 \\ 0 \end{bmatrix} + \begin{bmatrix} x_3 \\ 0 \\ 0 \\ x_4 \end{bmatrix}$$

XY



7) The basis for 
$$ker(A)$$
 is given by each of my final vectors  
 $ker(A) = spon \begin{cases} -2 \\ 1 \\ 0 \\ 0 \end{cases}, \begin{bmatrix} 1 \\ 0 \\ 0 \\ 0 \end{bmatrix}, \begin{bmatrix} 1 \\ 0 \\ 0 \\ 1 \end{bmatrix}, \begin{bmatrix} -3 \\ 0 \\ 0 \\ 1 \end{bmatrix} \end{cases}$ 

Or thogonality



$$\vec{v}_{j}$$
,  $\vec{w}_{j}$  are orthogonal ;  $\vec{f}_{j}$ ,  $\vec{v}_{j}$ ,  $\vec{w}_{j} = 0$ 

ex :



 $\begin{bmatrix} 0 \\ 0 \end{bmatrix} \cdot \begin{bmatrix} 0 \\ i \end{bmatrix} = \begin{bmatrix} 0 + 0 \cdot 1 \end{bmatrix} = 0 + 0 = 0$ 





